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Which of the following skill is associated with emotional intelligence?
(a) memorising

(b)  motor processing

(c}  envisaging

(d) Empathising
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Who propounded the five steps system of 'Lesson plan'?
(a) Herbert (b) Bruner (c) Galileo (d) None of these
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"Project is a purposeful action that is carried out in a social environment with
fuil engagement." Whose statement is this?

(a) Kelpatric (b) Vygotsky (c) Dewey (d) None of these
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Which Psychologist used the 'Trial and Error' method?
(a)} Skinner (b) Thorndike (c) Thurston (d) Watson
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The most important aspect of New Education policy, 1986------
(@)  Equal opportunities for education for all sections of society
(b)  Informal education

(c) Teacher training program

(d)  Counselling arrangement of secondary level
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The thematic qualification of the students, which can be well known, is --=---
(@)  From Exam. questions

(b) From testing tools

(c) From Discussion

(d) From parent counselling
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A good teacher must have kKnowledge of teaching methods, because:-
(@)  This makes learning more effective.

(b)  With this, teaching owrk can be done quickly.

()  With this, teaching work can be done easily.

(d)  This gives confidence to the teacher.
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Being a teacher we wil use teaching- Learning materials, because:-
(a)  This will keep the student busy

(b)  Student will learn easily through this.

(c)  This will entertain the students.

(d)  This will distract the student's attention.
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The curriculum of educational institutes shouid be based on which of the fol-
lowing=~-----

(a) Theory

(b) Practice

(c)  Theory and Practice

(dy  Theory, Practice and Research.
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A few students is your class are exceptionally bright, you will teach them ------
(a)  Along with the class.

(b)  Along with higher classes.

{c) By using enriched program

(d)  Only when they want.
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According toe NCF-2005, the role of g teacher has to be:-----
(@)  Authoritative (b) Dictatorial (c) Permissive (d) Facilitative
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The teacher studies pupils group behaviour mainly by which of the following
methods?

(@)  Interview

(b} Experimentation

(c) Case-study

(d)  Observation
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A scoring guide use to evaluate the quality of students by a teacher, is called-
(@) Rubrics (b) Checklist (c) Inventories (d) Rating scales
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A secondary school teacher really helps students, if she mm———n?
(@)  Makes notes to childrenin class

(b}  Completes the syllabus before schedule

(c) Is impartial in the assessment

(d)  Encourages students to ask questions.
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Giving punishment, verbal or nonverbal to the children results in:-
(a)  Motivating them to work.

(b)  Protecting the chiid's image

(€) Improving their scores.

(d)  Damaging their seif concept.
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How can a teacher encourage her students to be intrinsically motivated to-
wards learning for the sake of learning?

(a) By including anxiety and fear.

(b) By getting competitive test.

(c) By supporting them in setting individual goals and their mastery.

(d) By offering tangible rewards such as chocolate
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When a Child fails, it means:-

(a)  The child should have taken private tution.

(a)  The system has failed.

@iy ~ The child is not fit for study.

(a)  The child has not memorized the answer properly.
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Individual attention is important in the Teaching-Learning process, because:-
(@)  Teacher training programmes prescribe it

(b) It offers better Opporunities to teachers to discipline each learner,

(c)  Childeren develop at different rates and learn differently.

(d) Learners always learn better in groups.
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Ateacher never gives answer to questions herself. she encourages her stu-
dents to suggest answers, have group discussion and adopt collaborative
learning. On what principle is this approach based?

(@) Setting a good exampie and being a role-modei.

(b}  Readiness to learn

(c)  Active participation

{d) Proper organization of instructional material,
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What would you do it one of your students asked irrelevant questions?
(@)  Willignore him.

(b)  Will make him realize his mistake.

(€) Wil give him another opportunity.

(d)  Will scold him among children.
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A good test has the following three characteristics:-

(a) Validity, Evaluation and Practicality.

(b)  Validity, Reliability and Practicality.

(c) Comprehensiveness, Evaluation and experimentalism.
(d) Comprehensiveness, Evaluation and Practicality.
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What is the method of verifying a rule by first telling the students a general rule
and then giving examples of that rule?

(a) Deductive method.

(b)  Inductive method.

(c) Logical method

(d)  Analytic-sunthetic method.
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Which is the correct sequence of Micro-teaching?

(a)  Micro lesson plan-Teaching- Re lesson plan- Re-teaching- Re feedback.
(b) Microlesson plan- Teaching- feedback- Re-teaching- Re-feedback.

(c) Micro lesson plan- Teching- feed back- Re lesson plan- Re feedback.
(d) Micro lesson plan- Teaching- feed back- Re lesson plan- Re teaching.
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To develop research and research related activities in children:-

(8  You wil increase their observaton power

(b)  You will make them aware of the research and research work.

(c) They will be told abodit the researchers so that they can also do research.
(d)  They will be told that researchers are respected.
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The hypothesis underlying "Team-teaching' is :-

(@)  Teacher feel bore while working alone.

(b)  Teachers are not competent to teach alone.

(c) The best teachers of school can be shared by more students.
(d)  The single teacher can not control the class.
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At the highest level of hierarchy is:-
(a) Understanding (b) Application (c) Evaluation  (d) Analysis
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'Micro teaching' focuses on the competency over:-
(a) Method (b) Skills (c) Content (d) None of above.



28.

29.

30.

31.

feror Rty R e fafdTe } M’ &1 3R WM &
(@)  amemE fafe

(m) = R
() e
(w) ufeat [

Teaching method is which teacher move from 'specific to general'.-
(a) Inductive method.

(b) Deductive method.

(c) Drili method.

(d)  Discussion method.
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Attitude, values and interests are reflected by which learning domain:-

(a) Cognitive (b) Affective (c) Psychomotor (d) None of above.
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Which one of the following isnot a prescribed level of teaching?
(a) Memory level

(b)  Understanding level

(c) Reffective level

(dy  Differentiation level
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Which one of the following is a key behaviour in effecftive teaching:-
(a)  Using student ideas and contribution

(b)  Structuring

(c) Questioning

(d) Instructional variety

[



32.

33.

34,

T 381 fReres B =y —
() <l s vty
(@) gl s e
(M) eF v v s
(a) WWWHWR%

A good teacher must be:-

(@)  Resourcefyl and autocratic
(b)  Resourceful and Participative
(c) Resourceful and authoritative
(d)  Resourceful and Dominant
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The teaching profession can be upgraded only, when:-

(@)  Teachers teach through creative methods

(b) Payas per merit.

(c) Teachers themseives should do new experiment and find new methods.
(d)  Teachers give more and more time to the students.
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It is necessary to teach value Education, because:-

(@)  This will increase their intellectual development.

(b)  Parent will be pleased,

() They will increase faith and awareness towards virtues.
(d}  Thatis also an education.
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Corporal punishment in schools has been prohibited by the ~-----==---- .
(a)  Child labour prohibition Act.

(b)  National policy on education.

(c)  National curriculum framework.

(dy RTEAct, 2009.
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(@) ABC (@) KMN (1) XYZ (a) RST
Select oddman from the following word group

(a) ABC (b) KMN () XYZ (d) RST
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WV, PO, IH, BA, (?)
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Select the missing terms in the following
WV, PO, IH, BA, (7)
(a) ST (b) RS (cyuT (dy UV
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If the code of 'TRAIN' is 62, then what will be the code of 'SCOOQTER'?
(a) 100 (b) 95 (c) 85 (d) 125
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If the day of August 25 in a year is Thursday, then how many Mondays will be

there in that month?
(a)3 (b) 4 ()3 (d)6
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The four friends are Divya, Sangeeta, Asha and Rita.
Divya is one year older than Sangeeta,

Sangeeta is two year older than Asha.

Rita is one year older than Asha.

who is the youngest among them?

(a) Rita (b) Divya (c) Sangeeta (d) Asha
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A boy ranks 31st from the top in a class of 50 students. What will be his rank
order from bottom? '

(a) 20nd (b) 19th (c) 21st (d) 18th
9, ¥ A e ¥, S 3 avm weey e ¥ Hafda g
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The Earth is related to the Sun, in the same way as the Moon is related to ----- .
(a) The Orbit (b) The Star (c) The Sky (d) The Earth
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I go 5 Km east and turn 8 Km to the right and then turn 5 Km to the left and
then turn 8 Km to the Jeft again. How far | am from the initial place, from where
| started.

(a) 13 Km. (b) 10 Km. (c) 7 Km. (d) 6 Km.
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Rahim is sitting right from Ram and left from Suresh. Shankar is last on the
right. Who is second from left?

(a) Shankar (b) Suresh (c) Rahim (d) Ram
fre § 9§ B ) e T gl i §7
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Which of the following number is a perfect square.
(a) 0.09 (b) 8.1 (c) 0.025 (d) All
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The ratio of ages of two brothers is 5:8 and the difference is their ages is 12.
Find their age.

(a) 20, 32 (b} 16, 28 (c) 18, 30 (d) 22, 34
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If Perimeter of a square is 24 cm., then what is the area of this square.
(a) 24 square meter (b) 36 square meter

(¢) 32 square meter (d) None of these

TP AT B 20% B T 15000 ST T =1 T SHH! B od Tehi BRI

(@) 17,750 99 (@) 17,250 R

(71) 18,750 ¥ (®1) 18,250 TTA

An article was sold at Rs. 15000 at a loss of 20%. Find its cost price.
(a) Rs. 17,750 (b) Rs. 17,250

(c) Rs. 18,750 (d) Rs. 18,250
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Find the value of
2.3 +48.62= ____ (?)
(a)2 (b)3

gl X+2Y= 25 aiiw Y= 5
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HX+2Y + 25 and Y=5
then find the value of X

(a) 10 (b) 5
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(1) 4

(c) 4

(1) 15

(c) 15

(1) 5

(d) 5

(a) 20

(d) 20
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Kalyan sona and sharbati sonora are improved varieties of which
crop?

a. Maize b. Rice ¢. Wheat d. Pulses
oot B el THIS T E ?
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What is the basic unit of classification ?

a. Species b. Variety
¢. Family d. Kingdom
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What is botanical name of tea?

a. Allium cepa b. Camellia sinensis
c. Coffea arabica d. Piper nigrum
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Scalariform conjugation occurs in which of the following ?

a. Spirogyra b. Ulothrix c. Oedogonium d. Moss
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Which is the main cause of acid rain?

a. CO and CO, b. CO, and NO,
¢. NO, and SO, d. N, and NO,
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Which one is an example of natural gene cloning vector ?

a. Linear plasmid b. Circular Plasmid
¢. Ti-plasmid d. None of these
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What are the types of food chain prevail in an ecosystem?

a. Grazing b. Detritus c. Bothaand b d. None of these
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Reproduction by budding occurs in which of the following?

a. Bacteria b.Yeast c¢. Cyanobacteria d. Both b and ¢
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Modern theory of organic evolution stresses on which of the

following ?

a. Isolation b. Mutation c. Population  d. All of these
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Which one is an endangered species?

a. Acacia nilotica b. Cuscuta c. Nepenthes d. Utricularia
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What is called study of fossils?
a. Homology  b. Palynology c. Entomology d. Paleontology
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Which one is known as ‘Spike Moss’ ?

a. Marchantia b. Selaginella  c. Funaria d. Equisetum
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Which mode of nutrition is found in Algae ?

a. Holozoic b. Holophytic  c. Parasitic d. Saprophytic
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Rough endoplasmic reticulum is concerned with which of the
following process?

a. Lipid syntihesis  b. Amino acid synthesis
c. Protein synthesis  d. Fat metabolism
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Rauvawolfia serpentina is a -

a. Spice plant b. Mdedicinal plant
c. Hydrophytic plant d. Xerophytic plant

YT o b TP B B & 7
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How many types of nucleic acid are there?

a. 1 b.2 c.3 d. 4
dAfede §7?
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Lenticels are -

a. Special stomata b. Scars on old stems
C. Aerating pores in bark d. All of these
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What is the source of EcoR | enzyme?

a. TMV b. E. Coli c. B. Coli d. Virus
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Winged pollem grains are characteristic feature of which of the
following?

a. Cycas b. Pinus c. Polytrichum d. Agaricus
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What is called non-coding sequence of DNA 7

a. Intron b.Exon c. Splitgene  d.None of these
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Somatic embryogenesis can be done by which of the following ?

a. Protoplast culture b. Tissue culture
c. Both A and B d. Cell culture
. Preifea | 9 A gGE PH E?
() AUG (@) GUG (M) UAA (a) GUC
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Which one is termination codon in the following?

a. AUG b. GUG c. UAA d. GUC
. Thed B §—
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Truffles are-

a. Edible fungus b. Produces fruiting body embedded in soil
¢. Mumbaj d. Poisonous fungi
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Antibiotic Penicillin is obtained from which of the following?

a. Penicillium notatum b. Penicillium nuda

¢. Pseudomonas citri d. Xanthomonas campestris
SR Y Frifeher ¥ freret it &7
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Gemma cup is characteristic feature of which of the following?

a. Oedogonium b. Marchantia
¢. Spirogyra d. All of these
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Hydrogeh bonding occurs between which of the following constituent
of DNA ?

a. Complementary bases b. Sugar and base
c. Phosphate and base d. All of these
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Which micro-organism causes denitrifieation of s0il?

a. Pesudomonas Denitrificans b. Thiobacillus denitrificans
c. Both A and B d. Staphylococcus aureus
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Which prevent crop of maize from corn borer?

a. Cry IAb b. Cry II c. 1Ab d. Tbc
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Polysome is association of ?

a. Ribosome + m RNA b. Ribosome + t RNA
c. DNA + Ribosome d.Bothbandc
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() srgfPra () T () Prgiora (ur) &7 9 o TR

9%



g/

=y

83

Which type of endosperm is found in Gymnosperms?
a. Haploid b. Diploid ¢. Triploid d. None of these

zg%awaﬁ;mﬁmﬁfﬁgaﬁmwﬁ?
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Which of the following is an example of Tunicated Bulb?

a. Potato b. Onion ¢. Ginger d. Garlic
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Which of the following is used as food?

a. Sphagnum b. Agaricus
¢. Morchella d. Both b and ¢
. TS} T T T
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Wart disease of Potato is a-

a. Bacterial disease b. Viral disease
c¢. Fungal disease d. None of these
TOTER BT e e Preiftea 3 < i 37
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Which of th following is core element of chlorophyll?
a. Mn b. Mg c.Zn d.K
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Nitrosomonas and Nitrobacter convert-

a. Mercury salts to methyl mercury b. Ammonium salts to nitrate
c. Protein casein to produce curd d. All of these
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Capitulum is characteristic of -

a. Zinnia  b. Helianthus  c¢. Marigold d. All of these
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Phloem parenchyma is absent in which of the following?

a. Monocot Root b. Dicot Root
¢. Monocot stem d. Dicot stem
. qROEITE 61 USSAITS B4l Bl 87

Rhizoids of Marchantia are-

a. Branched unicellular b. Unbranched unicellular
c¢. Branched multicellular d. Unbranched multicellular
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GM Plants can be developed by -

a. Transgenic technology b. Somatic hybridization
¢. Both A and B d. Somaclonal variation
IS B R0 B e GIRT T Rreren & ?
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Germination of seed is promoted by -

a. Blue light b. Green light c¢. Red light d. Infra red light

Tt =01 3 faferrar <6 witbam ) &7
(F) d<edH (@) fswirés (71) TSN (=) smgmd=

In which stage the process of crossing over occurs?

a. Leptotene b. Diplotene  c. Pachytene  d. Zygotene
AIATAT B TG T 7
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How are somaclones prepared?

a. By Callus culture b. By somatic Hybridization
¢. By miropropagation d. By sexual reproduction
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In an embryosac, the cells which degenerate after fertilization are-
a. Egg and antipodals

b. Antipodals and primary endosperm cell

c. Synergids and antipodals

d. synergids and primary endosperm cell

?:3‘-1 . el 31 9 Fritea  fva 9w foren < 27
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Til oil is obtained from which of the following plant?

a. Sesamum indicum  b. Brassica rapa

¢. Cocos nucifera d. Sunflower
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Name the cellular genes which when activated can cause cancer.

a. Silent genes b. Oncogenes
c. Proto-oncogenes d. Bothbandc
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Plant body of Riccia is ?

a. Thalloid b. Gametophyte
c. Both A and B d. Sporophyte

Q1 .Mﬁavmvﬁﬁﬁﬁqumﬁ?mm%?
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Which is the nearest star of the sun ?

a. EcoR | b. Bam-H | c¢. Hind-il d. None of these

9 & - e e WaE W U o §?
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Quantasomes occur on the surface of-

a. Nuclear envelope b. Plasmalemma
c. Cristae d. Thylakoids
99 - o ¥ e e oo o §?
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Sunken stomata are found in which plants?

a. Hydrophytes  b. Xerophytes c. Mesophytes d. Halophytes

100 Frafeafa 4 A fra w W@wrem wuRer war ¥?
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Anti codon is present on which of the following?
a. DNA  b. m-RNA c. t-RNA d. r-RNA
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Blue-green algae are placed in which kingdom?

a. Monera b. Protista c.Fungi d.Plantae
160 . U &R P RGNS A B
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Botonical name of para rubber is ~

a. Ficus elastica b. Rosa sinensis
c. Hevea brasiliensis d. Carthamus tinetorius
163  S) T SRR B R HE o E7
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What are two similar holotype called?

a. Meotype b. Mesotype c. Isotype d. Syntypes

Lol ATge e R Rreifted 3 W R RToRRS FR1 hedt §7
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Citrus canker disease is transmitted by which of the following

pathogen?
a. Xanthomonas oryzae b. Xanthomonas citri
c. Alternaria solani d. Albugo candida
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Spikelet inflorescence is a characteristic feature of which of the
following family?

a. Apocynaceae b. Malvaceae  ¢. Poaceae d. Ranunculaceae

10é - U UIRGS § veer eibe iR orar i
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The first trophic level in an ecosystem is-

a. Primary producers b. Primary consumers
¢. Secondary producers d. Secondary consumers
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Which of the following take part in Nitrogen fixation?

a. Azotobacter b. Pseudomonas c, Rhizobium d. All of these

109 T v & e Bt e W e S £
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Seeds of which plant are called “black pearls”?

a. Argemone Mexicana b. Coffea arabica
c. Piper nigrum d. Elettaria cardamomum
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Plasmolysis occurs due to-

a. Osmosis b. Exosmosis  c. Endosmosis d. Absorption
110 . Ti - wenfowre Frifta 4 fre arn omen & ?
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Ti- plasmid occurs in which of the following?

a. E. coli b. Cosmid
c. Bacteriophage d. Agrobacterium tumifaciens
iii ., ereteen ¥ W @ a9 g7
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In Hydrilla stomata is -
a. Present on leaves b. Present on stem
c. Both A and B d. Absent

1L i T A e
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Name of sanflower family is-

a. Asteraceae b. Cucurbitaceae
c. Brassicaceae d. Rutaceae
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Sago grains are obtained from which plant?

a. Metroxylon rumphii b. Zamia pygmaea
c. Pinus d. Lycopodium
| T furee v oy @ ey B 7
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Food poisoning is casused by which bacteria?

a. Clostridium butylicum b. Acetobacter aceti

c. Clostridium botulinum d. Clostridium pasteurianum
SiaTew 519 A fvas g femifra fovan s &2
(@) fewfre wor @ (@) Bfwr—m & 9en §

(1) At s @i 9 (=) 379 5 s

Fossils are dated by-

a. Stratigraphic age b. Amount of calcium
¢. Radioactive carbon content d. All of these

¥ A JRE0] BT FTo] e
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An example of In-situ conservation is-

a. Botanical garden b. Zoological safari
¢. Zoological garden d. All of these
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Scientific name of watermelon is -

a. Cucumis sativus b. cucurbita pepo
c. Citrullus vulgaris d. None of these
1R rifire freferaa o Rre wrn o §7
(@) = (@ygm (MuR (") TW©WR

In which of the following, Pollinia are found?

a. Grass b. Gram c. Pea d. Calotropis

119  rE e Preifda o @ Ry faeiver §?
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Eye spot is characteristic feature of -

a. Spirogyra b. Chlamydomonas
¢. Ulothrirx d. Ulva
120 BT Brebed el § P 3 @ B R e we §?
(<) 3TTe] BT 3eli =SS () 1ic] &1 @ie =AEE
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Colletotrichum falcatum causes which of the following disease in

plant?
a. Barly bilght of potato b. Late blight of potato
c. Wart disease of potato d. Red rot of sugar cane
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Aquatic fern which is an excellent biofertilizer is -

a. Azolla b. Marsilea c¢. Salvinia d. Pteridium
. YAC w1 ¥?
(F) 3% nfEMsRTr iR (W) 5% AfEslRms wrRE
(W) % IETRTT Ta () 379 A i 78

What is YAC ?

a. Yeast artificial colony b. Yeast artificial Chromosome
¢. Yeast artificial cell d. None of these

- TR e e Freifed A W Revrey wre fban i &7
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Edible fatty oil obtained from which of the following?

a. Lactuca sativa b. Helianthus annus
¢. Coccinia indica d. Lagenaria vulgaris

R e N B e e e
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Sporocarps are special structure of which plant?

a. Selaginella  b. Marchantia  ¢. Marsilea d. Riccia
Sary] Bt BRI e R 9 8t 17
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Bacteria have cell membrane made up of-

a. Fat b. Cellulose c. Lipo-protein  d. Chitin

© 3R B 4TS T HI ArSY] o G ?
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On germination a moss spore produces?

a. 3porogonium b. Sporophyte
<. Protonema d. Leafy gametophyte

31 e Ny B @ fore Fr 3§ BF SEa ded § 7
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Advanced technique to obtain disease free plants is -

a. Callus culture b. Tissue culture
c. Meristem culture  d. All of these

sTo=d R 3 JorgEl & wE T A ¥ ?
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What is the number of chromosomes in Down’s syndrome?

a. 46 b. 47 c. 48 d. None of these
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Clove oil is obtained from which plant?

a. Brassica campestris

b. Argemone mexicana

¢. Leaf of syzygium aromaticum

d. Flower buds of syzygium aromaticum
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Mycotoxin mainly produced by which of the following?

a. Neurospora crassa b. Penicillium notatum
c. Aspergillus flavus d. Yeast

.mﬁwﬁw%f@aﬁﬁmﬁmmm%?
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Colour blindness is an example of which of the following disorders?

a. Chromosomal b. Genetic c. Mendelian d. Both b and ¢

B-DNA 3 <) fieriterss @ @1 &1 @ R 8 &2

(®)2.7A° (@) 3.7A° (M)3.4 A° (u)332 A°

What is the distance between two consecutive nueleotides of B-DNA?

a.2.7A° b.3.7A° ¢.34A° d.332A°

T W B soragil B E.T.S %) wiriaiy s 37
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Which of the following transfer electrons to the ETS?

a. Phytochrome b. Ferredoxin
¢. Fe-s only d. Fe-s and cytochrome
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Exodermis is-

a. Epidermis of root b. Epidermis of stem
c. Outer part of leaf d. Outer suberised part of cortex
T | 5 Yicig 9 IR U BT ?
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Agar is obtained from the algal species of -

a. Chondrus b. Fucus c¢. Gelidium d. Laminaria

et a1 R frrd Fraforias i 4 Rew InTorTe @ dhera B7
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Tikka disease of groundnut is transmitted by which of the following
pathogens?

a. Alternaria solani b. Cercospora personata
c. Ustilago tritici d. Fusarium oxysporum

ot Form g enifire 8l g, FEeial g
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Reproduction which does not involve gametic union is known as-

a. Parthenogenesis b. Agamospermy
c. Parasexual reproduction d. Apomixis
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Long day plant amongst the following is-
a. Soybean b. Spinach ¢. Onion  d. Mirabilis jalapa

139 . =¥SN T g Siren 7
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The bladders are found in-
a. Nepenthes  b. Drosera c. Utricularia  d. All of these

L0 gD s § R ¥ i sad sideeliem -
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Mycoplasma are different from viruses in being sensitive to-

a. Amino acids b. Proteins c. Tetracyclines d. Sugars

7y P T A ger @ Paifa war §7
(&) 91 51 9 (MR (M N g  (9) s 5 waie

Annual rings in a stem determines?

a. Age of plant b. Height of plant
c. Thickness of plant d. No. of branches
(42 Aol freifase 4 9 e e & Sooy gof v= Rl B &7
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Sporangia develop on sporophylls of which of the following plant?
a.Ferns  b. Bryophytes c. Angiosperms d. All of these
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Organism used as natural genetic engineer in the following is-

a. Agrobacterium tumifaciens  b. Plasmid
c¢. Rhizobium d. Frankia

[ fraifiea § ¥ D DRSS bS Siar] T §°
(@) adragRem (@) A ey gieeRa (1) wrgAfERa (7) |edE

Which one is not a photoautotrophic bacteria in the following?

a. Thiospirillum b. Green sulphur bacteria
c. cyanobacteria d. Pseudomonas

(45 e af P 4 ¥ Rt w8 g ¥
(%) geira dre) (@) semgadoh () engaden (W) W

Secondary growth does not occur in which of the following?

a. Flowering plants b. Gymnosperms
c. Angiosperms d. Sphagnum
/ l}r_é‘ garsun # fraat e gie a0 ¥?
(%) ararwIEes 3 (@) wrEalreRar 3
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Eutrophication is an excess growth of which of the following?

a. Bryophytes b. Cyanobacteria
¢. Algae and aquatic plants d. Decomposers

[ 43 Ol W TS @ A4 S TR BT B0 8 98
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238



Fluoride content of water which cause fluorosis is -

a. 1 ppm b. 10ppm c.6ppb  d. 100ppb

[G8  x SougHY HYal -
(@) @I Ry o1 fammey (W) Tisier o1 e
(1) wotela @1 fsren (=) g
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So, Pollution causes -

a. Destruction of cell wall b. Destruction of Golgi bodies
¢. Destruction of Chlorophyll  d. Plasmolysis

/40 . T et arum 211 S o
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The ratio of 2:1 is observed in case of -

a. Complementary gene b. Suppressor gene
c. Lethal gene d. Dominat-recessive epistasis
/50 oL orgE B R-9fE, orga @ e &t @) aiftefing wea $7
(@) e i (@) SRS &=
(1) BIEIEPR (a1) 7 J=ARe &=

‘R-banding’ of chromosomes stains which areas of chromosome?

a. Primary constriction b. Centromeric portion
c. Kinetochore d. Non centromeric regions
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